

Tabulation of Bids Page 1 of 8

Contract ID: 15458 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 **District(s):** N4

Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) MOUNT CONSTRUCTION CO., INC.		(2) FERREIRA CONSTRUCTION CO INC		(3) JOSEPH M SANZARI INC	
Alt Set	: / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	BRIDGE		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	1.00000	1.00	5,000.00000	5,000.00	58,000.00000	58,000.00
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0002	152004P	1.000	1.00000	1.00	0.01000	0.01	13,000.00000	13,000.00
_	S AND CONTRACTOR'S TIVE LIABILITY NCE	S DOLL						
0003	152015P	1.000	1.00000	1.00	0.01000	0.01	0.01000	0.01
POLLUT	ON LIABILITY INSURAN	ICE DOLL						
0004	MMG009M	3,000.000	1.00000	3,000.00	1.00000	3,000.00	1.00000	3,000.00
E-Z PAS	S	DOLL						
0005	MMB173M	7,500.000	1.00000	7,500.00	1.00000	7,500.00	1.00000	7,500.00
SOLID W	ASTE DISPOSAL	DOLL						



Tabulation of Bids Page 2 of 8

Contract ID: 15458 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 **District(s):** N4

Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) FERREIRA CONSTRUCTION CO INC		(3) JOSEPH M SANZARI INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	BRIDGE		Cat Al	t Set:	Cat Alt Member:		
0006	MMG010M	5,000.000	1.00000	5,000.00	1.00000	5,000.00	1.00000	5,000.00
TELEPH	ONE SERVICE	DOLL						
0007	109006M	2,400,000.000	1.00000	2,400,000.00	1.00000	2,400,000.00	1.00000	2,400,000.00
FORCE	ACCOUNT	DOLL						
8000	MMB186M	600.000	100.00000	60,000.00	95.00000	57,000.00	84.00000	50,400.00
LABOR	CREW	HOUR						
0009	MMB186M	300.000	1.00000	300.00	0.01000	3.00	22.00000	6,600.00
LABOR	CREW (WD)	HOUR						
0010	MMB028M	1,800.000	105.00000	189,000.00	115.00000	207,000.00	123.00000	221,400.00
IRON WORKER HOUR		HOUR						
0011	MMB028M	180.000	45.00000	8,100.00	0.01000	1.80	50.00000	9,000.00
IRON W	ORKER (WD)	HOUR						



Tabulation of Bids Page 3 of 8

Contract ID: 15458 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 District(s): N4

Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) MOUNT CONSTRUCTION CO., INC.		(2) FERREIRA CONSTRUCTION CO INC		(3) JOSEPH M SANZARI INC	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	BRIDGE	Cat Alt Set:		Set:	Cat Alt Member:		
0012	MMB181M	3,800.000	684.00000	2,599,200.00	719.00000	2,732,200.00	737.00000	2,800,600.00
REPAIR C	ATEGORY "A"	HOUR						
0013	MMB181M	300.000	225.00000	67,500.00	0.01000	3.00	106.00000	31,800.00
REPAIR C	ATEGORY "A" (WD) HOUR						
0014	MMB182M	900.000	370.00000	333,000.00	440.00000	396,000.00	486.00000	437,400.00
REPAIR C	ATEGORY "B"	HOUR						
0015	MMB182M	100.000	1.00000	100.00	0.01000	1.00	86.00000	8,600.00
REPAIR C	ATEGORY "B" (WD) HOUR						
Section	n Totals:			\$5,672,703.00		\$5,812,708.82		\$6,052,300.01
Contract Totals				\$5,672,703.00		\$5,812,708.82		\$6,052,300.01
Cost Plus Time Totals				\$5,672,703.00		\$5,812,708.82		6,052,300.01



Tabulation of Bids

Page 4 of 8

Contract ID: 15458

Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015

District(s): N4

Call Order: 458

Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE

Min:

Max:

Contract Description: MTN STRUC. STEEL REP. NORTH - 2016

() indicates item is bid as Lump Sum



Tabulation of Bids Page 5 of 8

Contract ID: 15458 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 District(s): N4
Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

	o / Item ID escription		(4) IEW CONSTR GP, INC					
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	BRIDGE		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	0.01000	0.01				
_	RMANCE BOND AND IT BOND	DOLL						
0002	152004P	1.000	0.01000	0.01				
_	S AND CONTRACTO TIVE LIABILITY NCE	PR'S DOLL						
0003	152015P	1.000	0.01000	0.01				
POLLUT	ION LIABILITY INSUF	RANCE DOLL						
0004	MMG009M	3,000.000	1.00000	3,000.00				
E-Z PAS	S	DOLL						
0005	MMB173M	7,500.000	1.00000	7,500.00				
SOLID W	ASTE DISPOSAL	DOLL						



Tabulation of Bids Page 6 of 8

Contract ID: 15458 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 District(s): N4
Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) IEW CONS	STR GP, INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	BRIDGE		Cat Alt Set:		Cat Alt Member:		
0006	MMG010M	5,000.000	1.00000	5,000.00				
TELEPH	ONE SERVICE	DOLL						
0007	109006M	2,400,000.000	1.00000	2,400,000.00				
FORCE ACCOUNT		DOLL						
8000	MMB186M	600.000	76.00000	45,600.00				
LABOR	CREW	HOUR						
0009	MMB186M	300.000	22.00000	6,600.00				
LABOR	CREW (WD)	HOUR						
0010	MMB028M	1,800.000	133.65000	240,570.00				
IRON WORKER H		HOUR						
0011	MMB028M	180.000	48.00000	8,640.00				
IRON W	ORKER (WD)	HOUR						

Tabulation of Bids

Page 7 of 8

Contract ID: 15458

Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015 District(s): N4

Call Order: 458 Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) IEW CONSTR GP, INC					
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	BRIDGE		Cat Alt Set:		Cat Alt Member:		
0012	MMB181M	3,800.000	804.70000	3,057,860.00				
REPAIR	CATEGORY "A"	HOUR						
0013	MMB181M	300.000	205.00000	61,500.00				
REPAIR	CATEGORY "A" (WD) HOUR						
0014	MMB182M	900.000	460.20000	414,180.00				
REPAIR	CATEGORY "B"	HOUR						
0015	MMB182M	100.000	140.00000	14,000.00				
REPAIR	CATEGORY "B" (WD) HOUR						
Secti	on Totals:			\$6,264,450.03				
Contract Totals				\$6,264,450.03				
Cost Plus Time Totals				\$6,264,450.03				



Tabulation of Bids

Page 8 of 8

Contract ID: 15458

Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: December 03, 2015

District(s): N4

Call Order: 458

Project(s): N/A

Contract Time: 12/31/16 COMPLETION DATE

Min:

Max:

Contract Description: MTN STRUC. STEEL REP. NORTH - 2016

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 458 Contract ID: 15458 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX, UNION, WARREN

Letting Date: December 03, 2015 10:00AM District(s): N4

Contract Time: 12/31/16 COMPLETION DATE

Contract Description: MTN STRUC. STEEL REP. NORTH - 2016 Project(s): N/A

Rank	Vendor	· ID/Name	Total Bid	Percent Of Low Bid
1	M6816	MOUNT CONSTRUCTION CO., INC.	\$5,672,703.00	100.00%
2	F2743	FERREIRA CONSTRUCTION CO INC	\$5,812,708.82	102.47%
3	S0503	JOSEPH M SANZARI INC	\$6,052,300.01	106.69%
4	12943	IEW CONSTR GP, INC	\$6,264,450.03	110.43%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,